& CANTON ELEVATOR

ARCHITECTURAL FRODUCTS

REV. DESCRIPTION DATE | JOB NAME: JOB NUMBER:
ASSEMBLY PROCEDURE
DESCRIPTION: DRAVI-\:NAE;;:TMAN
STANDARD CAB ASSEMBLY DATE:
01/24/05
UNLESS OTHERWISE SPECIFIED: DRAWING NUMBER: REV | SCALE: 1:16
DIMENSIONS ARE IN INCHES - - -
ALL TOLERANCES + .030" STD-CAB-ASB - SHT #1 O SHEET1 OF 1




DOOR PANEL

FAN
WSTEADY BRACKET (REMOVE FAN FROM UNDERSIDE
ASSEMBLY OF CANOPY AND MOUNT ON TOP
SIDE OF CANOPY)
STEADY BRACKET
¢ ASSEMBLY

(SEE ASSEMBLY DETAIL FOR INSTRUCTIONS)

HEADER MOUTNING ANGLE
(ALIGHN SLOTS AND CUTOUT
WITH TRANSOM AND THRU
BOLTS WITH 1/4-20 X 3/4" WHIZ
BOLTS AND NUTS)

CANOPY ASSEMBLY
(SECURE CANOPY TO WALLS AND TRANSOM
WITH 1/4-20 X 3/4" WHIZ BOLTS AND NUTS)

TRANSOM ASSEMBLY REAR WALL ASSEMBLY
(SECURE TO WALLS / CANOPY /
FRONT RETURN / POSTS WITH

1/4-20 X 3/4" WHIZ BOLTS AND NUTS

STRIKE WALL ASSEMBLY

FRONT RETURN ASSEMBLY

-
LI Y

SECURE WALLS TOGETHER WITH
/_1/4-20 WHIZ NUTS TO 1/4-20 X 3/4"
WHIZ BOLTS

\

SECURE FLOOR MOUNTING ANGLES (TYPICAL)
TO PLATFORM WITH #10 X 3/4" WOOD
SCREWS (PROVIDED)

1/4-20 X 3/4" WHIZ BOLTS

SLIDE WALL ASSEMBLY

PLATFORM

SECURE FRONT RETURN ASSEMBLY AND WALL
TOGETHER WITH 1/4-20 WHIZ NUTS TO 1/4-20 X 3/4"
WHIZ BOLTS

COP MOUNTING
ANGLES

\\ S /
1/4-20 X 3/4" SILL SHIM

WHIZ BOLTS

REV.

DESCRIPTION

DATE

UNLESS OTHERWISE SPECIFIED:

DIMENSIONS ARE IN INCHES

ALL TOLERANCE + .030"

ECCANTON ELEVATOR

ARCHITECTURAL FPRODUCTS

ORIGINAL MODEL

JOB NAME: JOB NUMBER:
ASSEMBLY PROCEDURE -

DRAWN BY:
DESCRIPTION: MARTIN
STANDARD STEEL SHELL CAB ASSEMBLY  [pATE

3/10/10

DRAWING NUMBER: REV | scALE: 1:1
SS-CAB-ASB - SHT #2| O [smeeriors




AN

h ' /' y //®
la ! ' ' /' A
% | A1 y
| | g
' \ '/ o
\ .k/‘
) '/ N
L
A
S
4 DETAIL A
SCALE1:8
CANTON =L=VVATOR
INSTALLATION INSTRUCTIONS: CAHGHI TECTURAL PRODUCGCTS
ORIGINAL MODEL 08/18/09 PRITCHARD

-CONNECT STRIKE WALL ASSEMBLY AND SLIDE WALL JOB NAME: JOB NUMBER:

ASSEMBLY TO REAR WALL ASSEMBLY USING 1/4-20 X . i

3/4" WHIZ BOLTS AND 1/4-20 WHIZ NUTS. .

-SECURE SHELL TO PLATFORM USING #10 X 3/4" FLAT DESCRIPTION: DRAWNEY:

HEAD SCREWS STANDARD STEEL SHELL WALL ASM - 1 p~&

DRAWING NUMBER: REV | SCALE: 1:32
SS-WALL-ASM O [steeriorz




.J@.J@

0 0= 0= 0= = —

Fl

I I'E=—T—T—T—T—% 'EEEEEEIE ]

vvvvvvvv

EHOEOR Y

I

[
/\qo

—

SHELL WALL

ASSEMBLY
N ) ( ) ( )

Ll

FLAT HEAD
SCREW
&)
PLATFORM
/

DETAIL A
SCALE1:4

—SHELL SIDE WALL
ASSEMBLY

STEEL SHELL

PLATFORM

\\
STEEL SHELL
WALL PANEL __|——WALL PANEL
(SIDE WALL) REAR WALL
B{ }

DETAIL B
SCALE1:2

1/4" SPACE FOR
FIN. FLOOR

ECCANTON ELEVATOR

ARCHITECTURAL FPRODUCTS

ORIGINAL MODEL 08/10/09 PRITCHARD
JOB NAME: JOB NUMBER:
DESCRIPTION: DRAWN BY:
STANDARD STEEL SHELL WALL ASM - 2 [pa® ]
DRAWING NUMBER: REV | SCALE: 1:32
CAB-SS-ASB O SHEET 1 OF 1




VATOR

JOB NUMBER:

HARTMAN

DRAWN BY:
DATE:

01/24/05
SCALE: 1:20

SHEET 1 OF 1

REV

0

L=

—
—

ARCHITECTURAL FRODUCTS

CANTON

€
JOB NAME:

ASSEMBLY PROCEDURE

DESCRIPTION:

A(1:6)

STANDARD CAB ASSEMBLY
STD-CAB-ASB - SHT #3

DRAWING NUMBER:

DATE

DESCRIPTION

ANGLE

UNLESS OTHERWISE SPECIFIED:
DIMENSIONS ARE IN INCHES
ALL TOLERANCES + .030"

REV.

R M i = e eSS S S SS SESSSe S S SIS S S =
A Pttty
i T - |
1l g 1! H e
ol | iffe : - P
Pl pion i L
11l alig 1! I |l
110 g 1! I ol
i 110 '’ " . P L
2l o “L “ THW— | 1 “ “.
; [ g 1! I P
, 1l i L [ b
O o N | R | |10 | 1°
W il 1 : ! "I" P
I H i ! le
: ._._..I i I i
: (NI ] 1 [ Pl
: i iR | !
| el -+ I . _______J= ________J/!3= ___________ L
] RN o R el o e e | S i i S SEFE=————ooooeee
M AL el o oS0 __ T ________ Jlee ___________=2
m- “ “ : “ _“ 3 1
o)}
i Rl g | = |
i 4L 'k Pl "
[ o 2 " : [ |
0 | ! 11
i it by |
g [ T|ﬂ _
g RN i1 I
RN ol 1] I
RN o[ ] I
[RIN I N = |
it 1 " "
il i H |
1 B |
' = 1=
e wﬁu—llﬂl|'||.|||.H|1-|||.I|t||||'|.|||||.1-||||.!|||||-|||||1.|||| h




	STD-CAB-ASB-SHT-1
	SS-CAB-ASB-SHT-2
	SS-WALL-ASM
	FLR-WA-SS-ASM
	STD-CAB-ASB-SHT-3

